Engineering Mechanics - Statics: CE 201-01-023 

Homework 7 & 8 

Key Solution
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DEPARTMENT OF CIVIL ENGINEERING - KFUPM
ENGINEERING MECHANICS - STATICS

Summer Session 023
CE 201 - 01
HOMEWORK ASSIGNMENTS NO. 7 & 8

» SCETIONS 5.1-5.6 Distributed loads: Equivalent loads; Equilibrium for 2D and 3D problems.
» DUE DATE: July. 30, 2003
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Study the above enumerated textbook's material then:

I. Solve Problem 5-8 [textbook page 208].
2. Solve Problem 5-29.

3. Solve Problem 5-37. Hint: first replace the distributed load (pressure) by equivalent
concentrated load.

4. Solve Problem 5-53. Hint: F, = ks where s is spring deformation.

5. Solve Problem 5-87. Hint: use equilibrium conditioins for vector forces and vector moments :

ZRF :O; ZRM:O.
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